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General Instructions / mﬁ%m :

1. This Question Booklet has two Parts — Part-A and Part-B.
wm—g%wﬁanm—m-ﬁxmnmh—s%l
2. Part

-A is of MCQ Type having 30 marks and Part-B is of Subjective
Type having 50 marks.

WA 30%%@%%%%-31?50%'%%@%%%1

3. The candidate has lo answer in the Answer Booklet which will be

provided scparatcly.
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TLV(XII)-46074

1/ 36
XSC-ECO-(OPT.)-SC



Downlbad PDF from - JACBoardSolutions.com

_ ECO
JAC Science/Commercy

4. Part-A — There arc 30 Muluple Chmcc Qucstlions having fOUP (4)

options ( A, B, C & D). The candidatc has to write the porrcct Option
in the Answcr Booklet. All questions arc compulsory. Each qucstion

carrics 1 fnark. There is no ncgative marking [or {.vrnng aniawcr.
WA — 3Ed 303@%@%%&#41&%(;\ B, C.au D) §|
qﬂmﬂﬁm-g%mﬁuﬁm%amalaﬁmaﬁmﬁﬁlmm

1 3% H1 8 7o I & fora g 37 e 7 sy

3. Part-B — There are three sections : Section-A, B-& C.

Thi_s part is of Subjective Type having Very Short Answer, Short

Answcr & Long Answcer Type questions. Total number of questions

is 22.

Section-A — Question Nos. 31-38 arc Very Short Answer Type.
Answer any 6 questions. Each question carries

2 marks.

Section-B — Question Nos. 39-46 are Short Answer Type. Answe!
any 6 questions. Each question carries 3 marks

Answer the questions in maximum 150 words each.

TLV(XII)-46074 XSC-ECO-(OPT.)-SC .2/ 36




Download PDF from - JACBoardSolutions.com

JAC ECO

Scicnce/Commerce
Question Nos. 47-52 arc Long Answer Type. Answer

Section-C —

any 4 questions. Bach question carries 5 marks.

Answer the questions in maximum 250 words cach,
WM-B — ¥ MM § f7 @ — @ug-a, B aw ¢ 1 3@ wm A arfa g

S, oY I aun & sha veR F fvafis @ § ga v A e

22 2|

@ue-A _ md@im-samﬁagaﬁﬁa@ﬁraemﬁ%mil
Yo% Y3 2 3% I 2

WUe-B —-mﬁwag-%aga?_rﬂu%f‘w&sﬁ%mil
ﬁaﬁmmlé'lmﬁélmwwmaﬁm
150 1 # %

gE.c  — yﬂd‘@l47—52ﬁﬁ3ﬁﬂ'ﬂ%lﬁ4mﬁa¥malm.

Wsajzﬁaq%mﬁtﬁmanmaqﬁmu%omﬁﬁil

practicablc.

Qﬁmaﬁumﬂam‘ﬂaﬁﬁamé'
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Candidate has to hand over his/her Answer Booklet to the

=~]

Invigilator compulsorily before leaving the examination hal,

uﬁmﬁaﬁmmﬁgﬂ%ngﬁwﬁm—gﬁaﬂa&waﬁaﬁaﬁmf
witerd |
8. . Candidatcs can take avﬁay the Qucstion Booklet aft‘er completion o

the Examination.

qﬁmm@ﬁ%mqﬂmﬁw gﬁ%mamﬂmaémma&?f%i
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Part-A
qH-A

( Multiple Choice Type Questions )

( aglereredra WA )

estion Nos. 1 to 30 are Multiple Choice Type. Each question has four

ptions. Select the correct option and write it in the Answer Sheet. Each

uestion carries 1 mark. 1 x30=230

T EEN 1§ 30 a% FgAhedd YRR d1 WlE T F 9 fawet 71 e fased

[ I qitaesl 8 ford | 9ol I 13=i$§|=é|
Which of the following is studicd under microeconomics ?

(A) General price level (B) Study of unemployment

(C) Supply of moncy (D) Consumct’s equilibrium

5 /36
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Ruififad i @ P s el ardarren sl wan @ ?
(A)  am AHd T (B) SISl <1 AT
© TR | (D) SR T HEH

2. The rate of change in total utility relative o the quantity of

commuodity is called
_(A)  Avcrage utility (B) Total utility
(C) Total profitability (D)  Marginal utility

a@ﬁm%maﬁmﬁqﬂaﬁ#aaﬁwmma?

(A)  3TEd 39T (B) Tl Iwifien
(C)  Fd THEREHA (D) W TP

TLV(XI)-46074| ~  XSC-ECO-(OPT.)-SC 6
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ing statements related o indifference curve

analysis are correct 2

Sclect the correct option using the following codes :

I. - The preference of the consumer is monotonic

1. Generally, an lindiffcrcncc curvc is concavce Lf'a the
origin

~III.  In Indifference Map, the indifference curve located at a

distance from the origin mcasures a rclativcl;s{' high
utility level

V. ’[‘hc slopt; of indiffcrcnce curve in the _cquilibrium state
is equal to the ratio of prices

(A Tandll _(B) Il and 1l

(C) 1,Ilandlll

TLV{X1I)-46074
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Al T [y @ gatuw frefeiflga wu=i 8 8 -3 w97 g8 2 -

= el w1 wm o ge v faeed @ 9ea HifAe
. mﬁmﬁﬁwwﬁg@mél
. amC:, T IQHET 35 e famg it i saaa g 21

n. el amteE § qw R @ g w sflm s

sTaeTa e suaifien = R T )

Iv. @ger i waen 3 IgEA 9% R e Sindl F s

U Bl 2
(A) 19Ul (B) 1@
_ (C) I, a4 11l (D) 1, H1aym v
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The slope of the demand curve for an inferior good is

(A)  Positive (B) Ncgalive
(C) Zero (D}  Infinitc ()
-~ .

s =fed T F o uin % 6 e B 2

(A) . UATCHH (B) U
C) A ' (D) 3 ()
5. The demand fo.r which type of commodily dccrcascs duc to increcasc
in the in;:omc of the consufncr ?
(A) Luxury goods (B) Colmfortable goods
_C)  Life-saving goods (D) Giffen goods |
mﬁma@ﬁmmﬁmiﬁ#ﬁm@m%?
w e am (B) IHCREE TG
©)  areF g (py it 3
l% :h:sc-1:-:00—1m"“"*l‘sc 9 /36
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Which of the following is a combination of compctitive items ?

(A)  Car and Pctrol (B) Penand Ink

(C) Brecad and Buttler (D) Blankets and Quilts
ﬁmﬁaf@ﬁﬁéwﬁﬁﬂaﬁaﬁmqmﬁnﬁq-m%?

(A) @R AR P (B) oM I =TE

(C) 3 IR I (D) e 3N W
Which of the following curves has a 'U' shape ?

(A)  Averagce product | (E) Marginal cost

(C) Total cost (D)  None of these

fafafga 1 4 R 9% &1 3F U IR @ 8ran R 2

(A)  3lHa I . () i W
(C) & @ (D) A FE T

TLV(X11)-46074 XSC-ECO-(OPT.)-SC 10/
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8 By what ratio will the production increase by increasing the factors
by 3 times in the production function of the increasing return o
scale ?
A} 2 times (B) Morc than 3 times
€ 1ume . _(D) 3times
WM & ghgar ufawe % Ieared wer § @il B 3 T @ gl FE W
seed i e s A f gt 2
(A) 2T (B) 37N 3 afre
(C) 1 741 (D) 37
When marginal cost is higher than average cost, then
(A)  Average cost decreascs
(B)  Marginal cost decreases
(C)  Average cost increascs
(D) Average cost is minimal |
Wil 45074] . 11/ 36
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8 Hinia T 3ied e & fuE g &, T
(A) st o e 2
(B) dmia @ g
© aﬂmmwﬁ%

(D) 3ired @ =ad g1 2

" The quantity of supply of a good increcascs by 5% when the price !

increased by 5%. Then the supply of the good will be
(A) Perfectly inclastic (B) Uni? clastic

(C) Inclastic . (D) Elastic

Ma@aﬂ?ﬁmﬂﬁs%iﬁ'qﬁaﬁmm@qjﬁaﬁmsnfnaa

e 21 B il
(A)  quid SEi=eR (B) FTX IR
(C) deegR . (D) @I=ER

TLV[XII}-;&GOT‘% XSC-ECO-(OPT.)-SC 12 /9
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If the unit tax is levied by the government on the production of the

11.

commodity, thcn the supply 6!‘ the good
(A)  will be reduced
(B) will be zero

(C) will increcasc infinitely
(D) will remain unchanged °
w&m-%maq%mmmmm%,ﬁmmﬁqﬁ

-(A). = & e
B) g3 & Sef
) i s gfa Bh
(D)  afeafda Erfl

w XSC-ECO-(OPT-)-SC 13 / 36
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: i o paralle ¢ price axis, t
12.  When the supply curve of a firm is & pamllrt.l to th p h{!
i
supply relative 1o the price s |

(A) Ela‘lslic 3)  Highly clastic

(C) Perfectly clastic (D) perlectly inclastic

ﬁwﬁmﬁﬁma&i%m@m%aﬁ{ﬁeﬁm%m§

}

(A) ®ERR | B) fa-w=el

(C) Yuiwan w=Er (D) tmiamaFﬁatrt

13. Under ceteris paribus condition, what will be the cffect of price hike
of factors on the cquilibrium price ?
(A) The cquilibrium price will incrcasc
(B) Thc cquilibrium pric_:c will deccasc

(C) The equilibrium price will be zero

(D) The equilibrium price will remain unchanged

T

TLV(X11)-46074 XSC-ECO-(OPT.)-SC 14 / 3
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e Al EAE @ WAl ) Audl oA A e wid g T
g ?

&y H@Waﬂ“ﬂaﬁfﬁ

@) Fge i g

) Eger Ha I B

(D) Hgem hiva afeEtda @l

4, In the casc of free entry and cxit of [irms in the market, the market

price is cqual Lo

(A)  Minimum marginal cost

(B)  Minimum avcrage cost

(C)  Price determined by demand and supply

(D) Marginal income

. 15 / 36
rLVIX]; - _ECO-(OPT.)-SC
=Y1XI)-46074| XSC-ECO-(



Download PDF from - JACBoardSolutions.com

- ECO
l J_ﬁg Scicnce/Comm

AN 1 wil & Fala yaw 3l wfetgs 6 ffa o arae foa fee

adfl 2 7

(A)  ~Fdn Hhyra &rma

(B) =AdW 3iEd ©ra

(C) Him 3T gfb giu Fuifa $i

(D)  HHEE\ HATTH
15. Who among thc jollowing is a .macrocconomic agent ?
(B) A producer

(A) A consumcr

(C) A shopkceper (D) Bank
fafafma § 4 #)3 v Aufimg anfls e @ 2

(A)  UF IuMiHI (B) UH IUIEHh

(C) Uk gl (D) &%

[TLvxn)-a6074] XSC-ECO-(OPT.)-SC 16/
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which of the following books is authored by J. M. Keynes ?

(N Wealth of Nalion_s

(B) [Economics

(C) Principles .of Economics

(D} . The General Theory of Employment, Interest and Money
Pt 3 P g 3 S 3, @, e § 2

A Ieu 3w o

(B) i

(C) fmqaq 3% $Tf

D) 2w 2 36 FAgie Qe T8 T

Which of the following variables is rclated to a certain point of

lime ?
A)  Commodity ( (B) Flow
(C) Stocks (D) None of these

17 / 36
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frafefga 4 A fau au ) dav gua % vp Bifzaa famg 8 2m02 0

(A) @ (B)  ¥em®

(C) =T= (D) ¥ |+ T

18.  Which method of calculat:ing GDP includes the monctary valy

final goods ?

(A) Product Mcthod

(B) Income Method

(C) Expenditure Mcthod

(D) All of these

sﬁéﬁﬁnmrﬁﬁmﬁfﬂﬁﬁﬁqﬂﬁaﬁ%ﬁﬁmﬂﬁﬂﬁm
Tl & ? :

(A) 3R fafy B) 3w faRy

(C) =y faly

(D) 390 Q @)

TLV(X11)-46074 |
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which of the lollowinge ;
B 18 a dCfCC[ of bar
ter system ?

(A)  Lack of valye accumulation
(B) Lack of double coincidence of wants

(C) Problem of value measurcment

(D)  All of these

¥4 fafmg gl I w Qe P A A AR R 2
(A) -nﬁﬁmm:ﬂuﬁ

(B)  rrazasal & drel HAM 1 A

C) Q\qu:rzﬁlww

M) zg 7 a4

' ' 19 / 36
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. . mercial b
20, Which one of the lollowing 1S not a function of a com ank

(A) Issuc of credit

(B)  Accepting deposits in savings bank account
(C) Bank of government

(D) Opening of fixed deposit account
mhm@mﬁmﬁf@aﬁéﬁ?—mﬁ% ?
(A) 9 Fpiem

(B) I9a 9% @ral ¥ w1 iR S

(C) UTHN &1 o

(D) - \rEY S @ @

TLV(XII)-46074
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If the centrnl bLanlk
) VOIMNMeren v
CAases the statutory liqquiclity ratio, then

lending capacity of
' - ‘OMmmere;
al banky

(A) Increcascs
(B) Decreases

C). Remains
(C) Unchanged (D)  May increasc or decrease

Hﬁaﬁﬁﬂﬁmamﬁ%mmaﬁa@éamﬁméﬁﬁméﬁ
& &mal |

() Fg T & B) a2
(C) ﬁmﬁqqﬁg‘m‘[ (D) q&mﬁamg

Which demand for moncv dccrecases due to increasc in interest

rale ?

(A)  Daily transaction demand

(B) Emergency demand for moncy

(C) Cross demand

M) Speculative demand
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EHEREH IV G E IV IR TCIIE & TR E N R AER,

(A} 2 S uin (B) Tz R AMTAHIAA i
() 3nFwin (D) HEeATSH |

23.  The marginal propensity to consume measures the slope of whic

funcuon ?

(A) Production function

() Investment function

(C) Uulity function

(D)  Consumption function

3gumn d dwid vgfd faw wem 61 em @) 27
(A)  3IIET wEH | (B) 19w wem

(C)  3udrind) siem (D) 3N yem

—

[ TLV(X11)-46074 | XSC-ECO-{OPT.).8C no
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Cyaluc of the multiplier in an cconomy is 4
~ ]

i e then what will be

e vatue of the marginal propensity to save 7
(he '

A 0-25 (B) 0-75

. D .
Q 2:5 D)y 4

%fgﬁamﬁwaﬂm4%?ﬁmaﬁmmmmw

g ? ,
g 025 (B) ©O75

D 4
© 29 ®

. i onsume affect
_ : nal propensity to €

ase in the margit
How does an Incre .

ed
E,Ji

ageregate demand ?

and curve
A There is no change in the aggregalc dem

1] incrcasc
rve w illin
cmal‘ld cu

gate d

B The slopc of the aggre
©  The aggregatec demand ¢

(D) The aggregate demand curv

oy s ECO-OPT)
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sl <) i wghi 8 afg wmg min F fRa R k@ w8 ?
(A)  |HW Wi G A HIs giEda T8l sl
(B) mrrhzﬁraaazﬁrma%’ﬂ |

(C) wuﬁwwzﬁ#aﬁiﬁaﬁﬁﬁﬁ
(D) mrr‘fnwamaﬁaﬂtﬁaﬁaafﬁ

26. Which onc of the following is a source of revenue income of the

government ?

(A) Disinvestment

(B) External debt

(C)  Household debt

(D) Dividend from government investment
m%mmmma\aﬁmﬁﬁaﬁn-m%?
()  fafaa | B) faeh

(C) ale] Hel (D) A fraw | s

TLV(X11)-46074 XSC-ECO-(OPT.)-SC 24 / 3
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27.  In which type of budget is the expenditure of the government more
than its income ?
(A)  Balanced budget (.B]. Deficit budget .
(C)  Surplus budget (D)  All of these
form semt % e § TR W o v am @ arfues a2 2
(A) F'ifrﬁ'd e (B) "HTe @I T2 |
(C) ey e (D) A wh |
28.  Which of the following products_has been excluded from GST in
India ? .
(A)  Tobacco products (B) Stationery"
(C)  Jewellery (D)  Petroleum products
@ H frerfafaa 0 | few 3mg i Shued @ e @ ™ »
() daTg IeTG (B) i@ wmfl
) sy D) W T
% XSC-ECO-(OPT.)-SC 25 / 36
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20, What is the impact of a lumpsum tax imposcd by the governmeny
on the cquilibrium income in the cconomy ?
(A) Equilibrium income will increasc
(B) There will be a decrease in equilibrium income
{C] Equilibrium income will rcmalin unchanged
(D) Cannot be said

-

THR & ZIW FHFGIA B AN 8 AT § Hqed ™ WO IWR

a2 ?

(A) Hgem W@ A gfg gt
(B) e s i @ gl
(C) I:igaqmawﬁaﬁa@ﬁ

(D) w7 481 I g

TLV(XI1)-46074 XSC-ECO-(OPT.)-SC 26 / ¥
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Onc of the reasons for the flow of forcign cxchange in India is
(A) | Forcign giflts:

(B)  Foreign Dircct Investment

(C) Export of goods and services

(D)  All of these

w4 ferdeft qz1 % vag @ w Hmw R
(A)  faceh 3w .
(B) faesft yeaar fAaw

(C) =gl wd a1 &l fAaia

(D) w4 @ @

--....,__‘__‘__‘___-_ ) .
WViX11)-46074 XSC-ECO-(OPT.)-SC 27 / 36
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Part-B
H-B
( Subjective Type )
(fraafig v )
| Secti'on -A
g - A
( Very short answer type questions )
( afa eg 3wl v )
Answer any six questions. 2x6=12
=i ©: gxAi & IW 2

31. What do you understand by production probability curve ? Showt:

with a diagram.,

IeATEA HUTEAAT 95 A Y 1 WA @ 2 l@ifam § gy

TLV(XII)-46074 XSC-ECO-(OPT.)-SC 28 / ¥
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) ‘mand curve
What do you understand by Giffen goods ? Show the de _

for this commodity diagrammatically.

ﬁrﬁﬂa@ﬁmmaﬂﬁ%?waﬁﬁﬁﬁﬁﬂﬁﬁqﬁmg

E-‘:Irlga l

What do you understand by production function ? Explain with

cxample.
ITeA Beld § AT 1 O & ? 3B g e hIfg)

If there is an increase of 8% in the price of an article, the supply of
that conunodily increcases by 10%, then calculate the supply

clasticity of the commodity. Write a comment on your answer,

yfe faefl g o) a1 8% M g B A 3@ IR A gfd 7 10w N gfe

Bl & ) =g <) gfd o ) noFn AR ST IR W Rl fafaw

--'-‘-l-n—-_-_-_____ .
VIX11).46074 XSC-ECO-(OPT.)-SC 29 / 36
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. : rclated
35 Write down any four qucslions which  arc i

Macrocconomics.
Feegi 9R e @ feran Rrgen way wW(R arfore @ A 2l

36. “Moncy acts as a unit of accounting.” What do you mean by thi

statecment ?

Ak ﬁémmm%l"wmmﬁwm%?
37. Dchine the financial market.

faftg aem #1 gfonfya it
38. Define the floating exchange rate.

At fafamg @ =) gfonfe fifsg

TLV(XII)-46074 XSC-ECO-(OPT.)-SC 30 / &
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Scction - B
@UE - B
( Short answer type questions )
(v 3wa w7 )

Answer any six questions. Answer the questions in maximum

150 words cach. " 3x6=18
T2 B: 9791 % IW | Y% WA 1 Ia AfUHa" 150 T2 § 3}
39. Why is demand line negatively sloped ?
TS Q7 &1 @1 HVIeHE g 1 A B 2
40. What do you understand by average cost ? How is it related to
marginal cost ? Explain with the diagram.
31Aq AT @ 39 941 @EEd @ 2 g8 iAW onma A fohe wen welim R o

wfya @ e Hifse

TLV(X11)-46074 XSC-ECO-(OPT.)-SC 31 /36
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41. Explain the cffects of the [ollowing conditions on thc market

cquilibrium with a diagram :

a) Dccrease in demand
b) Increasc in supply
c) Dccreasc in demand and supply at the same ratc.

'ﬁﬁ@%ﬁmwﬁgﬁqmﬂsﬁaﬁﬂwﬁﬁaﬁ%@ﬂ%ﬁﬁwﬁm:
a) M H HH |

b) i H 3

c)  #@M 3R gfd 5 & g9H @ | Fl|

42. What do you understand by national income ? How is national

income calculated from GDP ?

Y 3 @ A¥ T GAAd 8 2 TP 31 H) Hhel Ol I A FA 7@
ferm < 2

TLV(XII)-46074 | XSC-ECO-(OPT.)-SC 32 / 36
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43. Explain the mcasure of moncey supply in India.
e & Tz A 9 A =T ) = Hiftm)
"44.  Explain any three objectives of the government budget.
,mﬂm%'ﬁﬁﬁm;hﬁaﬁw%r

45. If the consumption function in an cconomy is C= 25 + 0:6 Y, then

calculatc the valuc of the mulfiplicr.

gfe forefl arforeren 4 399 & C = 25 + 0-6 Y R, A o &% AM A

AT hifaa

46. Explain the paradox of thrift,

fireeafaar & faQumma 6 smE fifag

TLV(XII)-46074 XSC-ECO-(OPT.)-SC .33 / 36




Answer any four questions. Answcr the quc

250 words cach.
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Section - C

wvg - C

( Long answer type questions )

-

(&rd 3909 9 )
stions in maximum

5x4.=20

Rp=dl TR TTL. % I 3| W T Bl I A{UhH 250 vreal § <l

47. Explain the factors affecting the price elasticity of demand.

a1 <€) Eimd " F I @ T FH 6 AR Hifl

48. The production function of a firm is 0=L"K". Explain that the

returns to scale in this production function 1s mecasurcd by « +{}.

TF FH 1 I Herd 0= k" 31 = e 5 58 Iearea werm o T
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Explain the factors affecting the supply curve of the firm in a fully

compectitive market.

O - TR A % o s R w0 TS ST R s
Hifi . '

Describe the product method of calculating GDP ( GDP re) at
C

instrumental cost,

mmmmiﬂsﬁﬁ (GDP . )eﬁrmmﬁmﬁmmavh'ﬁ&m
Exf:_lain the difference bcfwccn the following :

a)  Consumption cx-antc and Consumption cx-post

b)  Investment ex-ante and Investment ex-post.
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a)

b) _mﬁﬁamﬁznwdﬁ%m

!ﬁ
5I2. What do you understand by National Income ? Describe the
expenditurc method of calculating National Incomc.

u@umﬁmwmﬁ%?mﬁumaﬁwﬁmﬁﬁaﬁaﬂh

Hiforay
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